Quiz 27

1) Partner opens 2«. What is your response?
a) & KJ7 b) & 9862 c) & 952 d) & J1094
v K64 v QJ976 v 76 v KJ72
¢ J1052 ¢ 3 ¢ A42 *6
& QJ9 & 432 & KQ1076 & J853
2) You open 24 and partner responds 2 ¢. What is your rebid?
a) ~ AQJ2 b) & KQ3 c) a AKJ1076 A KQJ10
v KJ103 v AQJ10876 v KQJ102 v AK3
¢ AK * A * A ¢ AQJ5
& AQ5S & AK &9 & AQ
3) West opens 2. How will the auction continue? (NS pass throughout)
A AK3 N A 762 A AQ54 N A 62
v KQJ5 W E | v984 v AKJ3 w E| v Q1074
¢ AQ S ¢ 10932 * AQJ S + K982
& KJ83 & 754 & Q6 & 1053
West East West East
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